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TABLE 6.1

Bus input data for
Example 6.9*

TABLE 6.2

Line input data for
Example 6.9

TABLE 6.3

Transformer input data
for Example 6.9

TABLE 6.4

Input data and
unknowns for
Example 6.9

L PG QG PL QL QGmax QGmin
per d per per per per per per
Type unit  degrees  unit  unit  unit  unit unit unit
1 Swing 1.0 0 0 0
2 Load 0 0 8.0 2.8
3 Constant 1.05 5.2 0.8 0.4 4.0 -2.8
voltage
Load 0 0 0 0
5 Load 0 0 0 0
*Shuse = 100 MVA, Vi = 15 kV at buses 1, 3, and 345 kV at buses 2, 4, 5
Maximum
R X! G’ B’ MVA
Bus-to-Bus per unit per unit per unit per unit per unit
2-4 0.0090 0.100 0 1.72 12.0
2-5 0.0045 0.050 0 0.88 12.0
4-5 0.00225 0.025 0 0.44 12.0
Maximum
R X G, B, Maximum TAP
per per per per MVA Setting
Bus-to-Bus unit unit unit unit per unit per unit
1-5 0.00150 0.02 0 0 6.0
34 0.00075 0.01 0 0 10.0
Bus Input Data Unknowns
1 Vi=10,6 =0 Pi, Qi
2 P; =Pgy — P = -8 Va, &
Q2 =0Qg2 — Q12 = 2.8
3 Vi =105 Qs, d3
Pj), B P(';j), - PL_ﬂ, B 44
4 Py=0,Qs=0 Vi, 84
5 Ps =0,Qs=0 Vs, ds
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o ol 5,5 Sl

Generation Load
Volage Phase PG QG PL QL
Magnitude Angle (per (per (per (per
Bus # (per unit) (degrees) unit) unit) unit) unit)
1 1.000 0.000 3048 1.144 0.000 0000
2 0834 22407 0000 0.000 2.000 2800
3 1.050 0.597 5200 3.376 0800 0400
4 1.019 2.834 000 0.000 0.000 0000
5 0974 4548 0000 0.000 0.000 0.000
TOTAL 9.148 4516 2.800 3200
Ll g5 el
Line # Bus to Bus P Q S
1 2 4 2.920 1.392 3232
4 2 3.036 1.216 32
2 2 5 5.080 1.408 5272
5 2 5.256 2,632 5876
3 4 5 1.344 1.504 2016
5 4 1.332 1.824 2260
oy 55le gl 5 (29,5 Sledbl
Tran. £ Bus to Bus P Q 5
1 1 5 3.048 1.144 4112
5 1 3.924 0.804 4,004
2 3 4 4. 400 2976 5.312
4 3 4,380 2720 5.156
sus ((OVer load ) L adlol jlos asies 5l (boshas b s ¢ jgilejpinsl 5 LT 5T s | bghas 51 (55000 ol ol 5L 035w obb jlam -
(V95155 sodss OIS 4z 50 068 (e 5 dmled saalian 1) Lok 5l g 0e Olgs Glie ¥ el 40 Jate 581535 o8 lgs ldIL -F
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TABLE 7.3

Synchronous machine
data for
SYMMETRICAL
SHORT CIRCUITS
program®

TABLE 7.4

Line data for
SYMMETRICAL
SHORT CIRCUITS
program

TABLE 7.5

Transformer data for
SYMMETRICAL
SHORT CIRCUITS
program
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Machine Subtransient Reactance—3X/

Bus (per unit)
1 0.045
3 0.0225

*5 _— 100 MVA
Viwe = 15 KV at buses 1, 3
— 345KV at buses 2, 4, 5

Equivalent Positive-Sequence Series Reactance

Bus-to-Bus (per unit)
2-4 0.1

2-5 0.05
45 0.025

Leakage Reactance—X

Bus-to-Bus (per unit)
1-5 0.02
34 001




